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UNIVERSITY OF PETROLEUM AND ENERGY STUDIES 

End Semester Examination, December 2018 

Course:   Economics of Crime                                      Course Code: LLBL321                 Semester:  5 

Programme: BALLB (Criminal Law )   

Time: 03 hrs.                                                                                                              Max. Marks: 100 

Instructions: 

SECTION A  

S. No.  Marks CO 

Q 1  What are the indicators of Human Development Index? 3 CO1 

Q 2  Who gave the theory of Human Development Index? 1 CO1 

Q 3 Death Penalty is given in ……………………………….. cases . 2 CO2 

Q 4 Which country has the highest population of undertrials prisoners ?   2 CO2 

Q 5 Is Torture, expressly defined in Constitution ?  2 CO3 

SECTION B  

Q 6 What is inordinate delay? Discuss in the light of Shatrughan Chouhan case. 10 CO4 

Q 7 What were benefits of continuing with the Indian Penal Code after Independence ? 10 CO2 

SECTION-C 

Q 8 Should cannabis be legalized? What are the implications now and how do foresee the 

changes after legalization? 
10 CO5 

Q 9 How prolonged imprisonment does affects the productivity of an undertrial prisoner? 

Is compensation a way out for such situation?  
10 CO5 

SECTION-D 

Q 10 There has been some civil unrest in part of India. The government in order to curb 

the uprisings passed a law with the idea of preventive detention. With the new law in 

action many youths of that area were arrested and were put in prison. As the over all 

criminal justice system was same as inefficient, police was not able to prove the 

charges against many who were arrested. a lot of the undertrial prisoner were 

released but after a delay of 5- 6 years. 

A group of activist filed a writ petition in the Supreme Court of India under article 

32 of the Constitution of India. Arrest mere on the ground of suspicion was argued as 

violation of Article 21 and was creating a discontent among other people from that 

area. 

The Government based their argument on the grounds of national threat and security. 

They were of the view that a strict law was required to curb the civil unrest. 

25 CO3 



The Court appointed you as amicus in this case.  

File your recommendations in the light of Human Development Index  

Q 11 Since past few years many deaths were recorded due to lungs cancer which was 

caused by smoking. Some anti – tobacco campaign groups started a movement 

against smoking cigarette. Gradually the movement became very big. It was joined 

by lots of other people and the movement was widespread. 

Gradually a PIL was filed in the Supreme Court to put an absolute ban on sale and 

purchase of cigarette. 

The government argued that it is already highly regulated and an absolute ban will be 

violative of fundamental rights of people who are working in the industry.  

The anti – tobacco group  highlighted the fact that the government is not ready to let 

go a huge amount of tax which they make out cigarette.   

While the arguments, the government also acknowledged their inefficiency and the 

fear that an absolute ban will lead to a parallel industry where the cigarette will be 

sold and people will smoke. 

 

Decide the case and give reason for your judgment  

25 CO3 
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Q 1  Who propounded the new area of Economics of Crime?  2 CO1 

Q 2 Who designed the concept of Human Development Index? 2 CO1 

Q 3 What are the indicators of Human Development Index? 2 CO2 

Q 4 Who codified the Indian Penal Code? 2 CO2 

Q 5 The Indian Penal Code was initially applicable on English citizen. True/False 2 CO2 

SECTION B  

Q 6 What is miscarriage of justice? Discuss in the light of case laws 10 CO3 

Q 7 Discuss the guidelines in D K Basu Case. 10 CO3 

    

SECTION-C 

Q 8 What is the importance of NCRB data ? 10 CO4 

Q 9 How is crime and Human Development Index inter-related ? 10 CO5 

  
  

SECTION-D 

Q 10 In the recent times, the Supreme Court of India has found that there is a heavy sum 

of money involved with the game of cricket. this is leading to situations like match 

fixing and betting . In order to keep a control on such activities the Supreme Court of 

India formulated a committee.  

Now you are one of the member of the committee. Suggest the measures to curb 

such incidences. also,  highlight the tentative consequences of the measures 

suggested . 

25 CO4 



Discuss the situation in the light of the judgments delivered and committees 

formulated by the Supreme Court of India  

Q 11 Vihar is a state in a country whose constitution is same as India. It is a poor state.  A large 

percentage of population of the state resides in villages. Agriculture is the primary 

occupation. Population in the cities is on rise. There has been a consistent migration of 

people from villages because there has been a decline in the agriculture income. Agriculture 

has adversely affected by the uncertain and scanty rainfall. Life in the cities are stressful. 

There has been a steep increase in the revenue of the state because of the sale of the alcohol. 

A large number of families across the various income groups are being victims of alcohol 

abuse by the male head of the families. Many cases for domestic violence under the influence 

of alcohol were reported to the police. 

In the light of these facts, the State government of Vihar passed a new law. The new law was 

an absolute ban on sell, consumption and possession of alcohol. 

The ban has resulted into a volume of petition in the High Court against the decision 

of the government challenging the right to free trade and profession. 

the State government is using arguments to curb social unrest created within the 

families because of alcohol abuse. 

 

Decide  

25 CO5 

 


